' Activity 5.2 — Derivative and Antiderivative of e
1. (a) %(Se"’x): 5e . 4 = 20e*

(b) %(em‘tsj — 2t -(2 - 3t2)

(c) %(e“ (1+ 2u? —6u4)): (e“ X1+ 2u? —6u4)+ (e“ X4u —24u3): e“(1+ 4u+2u? — 2403 —6u4)
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2. Set f’(x):(ZX)(eG_X2)+(x2Xe6‘X2 -(—2x)j=e6—X2 2x-2x%)=0 to get x= 1,0, 1.
3. (@) [lbx—e*)dx=5x2—e*+C

(b) [5e**dx=—-5e*+C
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4. (a) +o;  (b) 0; (c) 0; (d) +o; (6) O; (f) 5
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(g) lim 20— = |im 2067 - |im 40 =3
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5. Set D'(t)=(- 2)(e‘5t )+ (- 2t)(— 5e‘5t)= e (—2+10t)=0 togett = 1/5s.

. (c) U(t)=0.1496(1.1289)' million users, where t is months since 12/31/2003
(d) U(48)=50.5 million users
(e) U'(t) =0.1496-e%12131.0.1213 = 0.0181- %1213t million users per month, where t is

months since 12/31/2003
() U'(48) =6.11 million users per month

(o3}



